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What is the missing 
number here?

puzzle 2

Which number completes
the pattern ?

puzzle 3

Which option completes this pattern  ?

puzzle 1

Which number completes the sequence ?

puzzle 4
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Math in English

Answer to brain teasers

Brain  Teasers level 4  #9

puzzle 1 :    B
The shaded part and symbols in each shape move 2 places clockwise.
The sum of the letter and number increase by 1 in both rows. 

puzzle 2 :    8
Bottom row minus the middle row equal the top row.

puzzle 3 :   2
Top row is the sum of the 2nd and 3rd row, bottom row the difference.

puzzle 4 :    15
In each row, the 3rd circle shows the difference between the 
numbers in the 1st and 2nd circle. 
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